ABIHBISA

FF3F6H278(H)
IE A K £ Tk 4 > | =% | HDCP ok RAUk
2 B BH FE 41 37 78 14.0 64.0 400
EB NI 46 41 87 20.0 67.0 300
3L BE FE 50 45 95 28.0 67.0 200
A3 2l %0 a7 46 93 26.0 67.0 100
541 KA #H— 42 47 89 22.0 67.0 100
64z RIR  f2KER 42 40 82 14.0 68.0
741 Xig 43 42 85 16.0 69.0 90
841 B =1 54 45 99 30.0 69.0
913 i —2 44 45 89 20.0 69.0
104z TE & 45 41 86 16.0 70.0 75
1141 KA EE 41 46 87 17.0 70.0
1241 ml EF] 48 a7 95 25.0 70.0
134 =i BX 52 45 97 26.0 71.0
1441 KA #E] 53 48 101 30.0 71.0
154 HHE =E=A 48 53 101 30.0 71.0
1641 Z2 EN 42 44 86 14.0 72.0
1741 ki EIE 42 44 86 14.0 72.0
184 wRE —X 43 44 87 14.0 73.0
194z KB At 46 44 90 17.0 73.0
20131 #O —=if 45 45 90 17.0 73.0 60
2141 E s 42 46 88 15.0 73.0
22131 #E =R a7 48 95 22.0 73.0
23 A0 @Bx 45 52 97 24.0 73.0
2441 ERK & 47 42 89 15.0 74.0
254 R HF 46 43 89 15.0 74.0
2641 E R 44 49 93 19.0 74.0
2741 ELt ®BEHEF 48 55 103 29.0 74.0




ABIHBISA

F3E6H278(H)

IE A K £ Tk 4 > | =% | HDCP ok RAUk
284z EBE X 44 48 92 16.0 76.0

291 BR BH 50 42 92 15.0 77.0

3011 Bl ¥ 49 44 93 16.0 77.0 60
3143 EAR X8 48 44 92 15.0 77.0

324z AR %t 51 47 98 21.0 77.0

331 XE FH 47 47 94 16.0 78.0

3441 BH R 47 49 96 18.0 78.0

354i aH 1E 46 54 100 19.0 81.0

361 BH W= 56 54 110 28.0 82.0

374 & Eth 60 53 113 30.0 83.0

38{iz x5 ®HE 53 50 103 18.0 85.0

BBE R FE 53 56 109 15.0 94.0 90
401z Fll ER 54 56 110 16.0 94.0
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